DIN# ARK Q+38.096 0110103

9d3

Poamip/AiomeTp
CTGAI: CTaAb
Cranb HepXx. HEPX. AQTyHb
ou..bina A1 A4
(1.4305)
M6x1 13,5 6 11 4201104 - -

10 M8x1 13,5 6 11 4201107 - - -
M10x1 13,5 6 11 4201161 | 4221161 - -
M6x1 17 6 17 4101704 | 4121704 | 4141704 | 4111704
M8x1 17 6 17 4101707 | 4121707 | 4141707 | 4111707
M8x1,25 17 6 17 4101708 14121708 - 4111708

17 6 17 4101709 4121709 - 4111709
M10x1

20 9 17 4101713
M10x1,5 17 6 17 4101711 14121711 - 4111711
M12x1 17 6 17 4101732 - - -
M12x1,75 17 6 17 4101715]4121715 - -
M12x1,5 17 6 17 4101714 14121714 - 4111714
M14x1,5 17 6 17 4101717 | 4121717 - 4111717

o) M16x1,5 18 7 17 4101719 - - 4111715
G1/8,1/8
28BSPP 17 6 17 4101761 4121761 | 4141761 | 4111761
G1/4,1/4
19BSPP 17 6 17 4101762 4121762 | 4141762 | 4111762
G3/8, 3/8
19BSPP 18 7 17 4101763 | 4121763 | 4141763 | 4111763
1/4- 21 10 17 4101768 - - -
18NPT,
pTF | 215 11 17 - - 4141768 -

h -Bucota
— UMAIHAPWYHA pizbba | - AOBXMHA
d - alametp S - PO3MIP Mia, KAKOY 172
d3 - piameTp

www.dinmark.com.ua

info@dinmark.com.ua



DIN# ARK Q +38096 0110103
Mpec-MAacAbLOHKA NpsMa

Posmip/AiameTtp
Cranb
eds | @d1? Canb | Hepx.
OKT.Bina A1
(1.4305)
M10x1 23,5 430210 - -
M16x1,5 21,5 8 22 430221914322219| 4312219
G1/4,1/4-
1osspp | 218 8 22 4302262 | 4322262 | 4312262
G3/8, 3/8-
1opspp | 218 8 22 4302263 | 4322263 432263
G1/2,1/2-
1aBspp | 21 8 22 4302264 - -
D
— LIMAIHAPWYHA pisbba
d - ailameTtp
d3 - piameTp
h - Bucota
[ - AOBXVHO

S - PO3MIP MiA, KAKOY

2/2

www.dinmark.com.ua

info@dinmark.com.ua




